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[ www.examda.com It is true in lots of industries, large plants can
make goods much cheaper than small plants. And in some industries
We can see a movement towards increasing economies of scale. In
other words, the minimum size of plant or the most economic size of
plant is getting larger and larger. Another necessary condition for
globalisation is the increasing homogeneity of consumer tastes.
There are an increasing number of consumers in Brazil. who have
almost precisely the same set of needs and requirements as
consumers in Germany. So consequently it becomes easier for a
producer to try to cater to the needs of both markets, because the
market differences have now really diminished to a point where they



virtually dont exist. Another explanation for globalisation is the
behaviour of governments. Historically, there have been barriers to
trade that have been put up by governments. Particularly since the
Second World War, inter-government bodies such as the GATT and
the World Trade Organisation have really encouraged governments
to liberalise trade, which means to remove political barriers, so that
trade liberalisation has been again an important necessary condition
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